


Two numbers, when divided by a
certain divisor, leave the remainder
57. When sum of the two numbers is
divided by the same divisor, the
remainder ig 49. The divisor is:

A =R B UH AREd wee W
faaIfioTd &9 WX 9% 57 94T 8| 9
q RN P AT B Sl "Ioe 9
fewrfora forar irar 8, o 99%a 49 |
BIdT B | HIGT® ®:

(a) 56 (b) 57

(c) 49 Jg.yes



ALON and ALMN are two right-

L angled triangles with common

hypotenuse LN such that

N=90° and ZLMN=90°. LN is

he bisector of ZOLM. If LN = 29 cm

and ON = 20 cm, then what is the
perimeter (in cm) of ALMN?

O 20 N | (a) 67 (b) 62

(c) 65 70
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The average number of runs scored
by a cricketer in 42 innings is 30.
The difference between his
maximum and minimum scores in an

inning is 100. If these two innings
are not taken into consideration,

then the average score of the
remaining 40 innings is 28. What are

the maximum runs scored by him in
an inning?

U%h fohdpex gRT 42 TIRAT & §91¢ ¢ 3Af
3! 3d =T 30 Bl Uh URNT H S
P AR YAdH TR P drd T 3fax
100 2| AT 591 < oilRAl & &9 & 18r
IET STaT 8, o 99 40 UiRAT &1 3iwd
R 28 €| U UNI H§ SHP NI §AI¢
MY 3fereas <= fham &7

v 120 (b) 105

(c) 115 (d) 110



ABCD is a square field with AB = x. A
vertical pole OP of height 2x stands
at the centre O of the square field. If

/APO =0, then what is cot equal
to?

ABCD % qaR #qM ¢ fo/99 AB = x
2] 39 TNPR #TH P 5 0 W 2x

$UE P Ud SRR G9T OP TSl 2|
I LAPO=0, T cotd fbud TRTER &7

2 (@) 2 (b) 2
)3’1 el 242 @ (d) 342




If tan®0 + cot®® = m, then what is

'7(% A "Li =M the value of tan©® + cot0?
L IS tan®0 + cot®@ = m, dl tan® + cot
1) ) 0 BT A T[T 87
1
741.}/’ L (a) \]\/m+2+2
o T JWH
N ? (b) J\Nm+4+2
)U"___’__ = m /‘q’JJJm+2+2+2
N




A sells a cycle to B at a profit of 33%

and B sells it to C at a loss of 25%. If
C bought the cycle for Rs 3,059,

8 057 ?(_lfb‘ L@_ then the cost price of it for A was:

( 2 123 A T% Efbd B @ 33% & oM W

305‘-? +

,3%
By

§9dT & 3R B S9 C @ 25% @l BfH W
§9aT 8| IfT C & 9igfedd 3,059 v9 H
@, N A D oIy FHHT AFTT T o

= Rs 4,054
" B L \‘/@S 3,066 3 (c) ’ 3
7 2

(b) R52,044l (d) R55,014§
3



If |l y-—|=-9, what will be the

valueof |y" - — (?

\ y )
/\%;;757\0

3(83)(34) - ()

(b) -62748 )\mﬁﬁ

A€) -62739

— | FS6%%3—9 (d) -5902; MU)')’ W M‘j
el S
3- 1



.In a triangle ABC, AP, the bisector of
/A , is perpendicular to BC at point
P. The measure of BP and PC are x
and 3y respectively. The measures of

AB and AC are 4x and (Sy+21). What
is the value of (x+y)?

Us & ABC #, AP, &1 WA,
f§g P W) BC W wqad 7| BP 3R PC &
{19 HHI: x AR 3y §| AB 3R AC &I
U9 4x AR (5y+21) B (x+y) BT A
T 87

(a) 21 (b) 15
L)ﬂ 12 @ (d) 18



If AABC~APQR , the ratio of

perimeter of AABC to perimeter of
APQR is 36:23 and QR = 3.8 cm,

then the length of BC is:
If§, AABC ~ APQR , AABC @I UfRHY

dR APQR URWY &1 UM 36:23 &
3R QR = 3.8 G §, A BC @ odIg &

a<) 4Ecm 4:) Sgcm
121 121



SimBle interest on a certaj_l_l_ sum is
one-fourth of the sum and the

e per annum is four times
e number of yedrg., If the rate of
interest increases by 2%, then how
much will the simple interest (in Rs)
be on Rs 3 600 fn@ars?

ue fARed IR TR \ERY &S R B
UH—arRg g 3R ufd a¥ =t g% qul 9
G B IR AT 8 | IR &S &R 2% 99
Sl 8, dF 6 991 & fov 3,600 YUY WR
HYRYT 19 (W9 #) fa=m 8rm?

)ﬁ) 2,562 X) 2,514

E)ﬁ'c) 2,642 \_9 2,592




Two people A and B started running

from the same point on a circular
track of length 400 m in opposite

directions with initial speeds of 10
m/s and 40 m/s, respectively.
Whenever they meet, A’s speed
doubles and B’s speed halves. After

what time from the start will they

meet for the third time?
< &fRp A 3R B 7 & & fdg ¥ 400

Alex @d TOHR TH W HAT 10
e /Aps iR 40 HeR/Ads @
yRAe Iy 9 fAoda fRemet & <t
% fHar| o9 @ 9 fAea € A 91 Tfa
SR 8 SR ® S8R B @) wfa ol @
Sl 81 ARY ¥ fhas 99g 91 9 9
IR fei

(a) 30 sec (b) 24 sec

\_(s}Z6 sec (d) 28 sec




- 2 (s If x = (7+35), then find the value

X

v
%%Lr;?,g'l‘qfs- ol = (7+3J§), x“+$${ HI =I0d
1 BT |

580 + 315./5

SH{oSt s )
IQQ o =" _ )Q 799+§23J§

8
UT

Q/%g + G o 799+31515 @

4@8 ud1’799+315‘/_




A man invested Rs 4,500 at_ 5% per
annum and Rs 5,500 at 8% per
annum simple interest. Both
investment were for 4 years each.
The amount received from the lower
rate of interest is what per cént
(rounded off to the nearest integer)
of the amount received from the
higher rate of interest?

TP ATEHT 7 5% Ufd 99 &I ¥ ¥ 4,500
IR 3R 8% U 94 & AR =TS R

5,500 U &1 a9 far| = a9 4
9 & fow I 9 w9 ® 9 U
R, ST ST &R A U A BT fbanm
yfoera (Meeaw quiie d ) 87

(a) 63% —AB) 74%
(c) 51% (d) 48%



M is the mid-point of side QR of a

parallelogram PQRS (P being on the

top left hand, followed by other

points going clockwise). The line SM

is drawn intersecting PQ produced at

CD T. What is the length (in terms of the
anath of SR) of PT?T-

sHd d15 I fdg f@omad fewm # Ford

g) | X&T SM & T 8 S PQ B T W

/ HIedl 81 PT & @915 (SR & olals @
TeH H) T 77

3SR SR

'h. b

Q @ > 5
(c)2SR (d) SR



4

28

Y3— |4
|—>39

Qk‘\ (b? 3£ litres  (d) 277 litres

In a mixture of 178 litres, the ratio
of water and milk is 5 : 7. How much

water should be added to make the
ratio of water and milk 3 : 4?7

17 11 COVUWUy,,
3 — litres 14
\)21/ >4 (c) 224 litres
1

23
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A field is in the shape of a rectangle
of length 90m and breadth 75m. In
one corner of the field, a pit, which
is 18m long 15m broad and 6m deep,
has been dug out. The earth taken
out of it is evenly spread over the
remaining part of the field. Find the
rise in the level of the field?

Uh Wd UP AT P AMBR &I & foraad!
918 90 Hex 3R =Alers 75 WX | Wd
D TP I H 18 HeX o=l 15 Hex Il
3R 6 HieX B T WET AT 2| TIQ
el 15 ) & 8 @ A9 9rT ¥
A WY 9 ol a1 Oar 21 89 & ®WiR

4 gfg sma HIfrR?
(a) 27 cm @Aﬁcm@

(c) 28 cm (d) 24 cm
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A shopkeeper increases the selling
price of an article by 15%. After
increasing the selling price, he
noticed that the profit percentage
changed from 5% to 15%. The
percentage increase in the cost price
is:

Uh GPMAR Uh o] & fdhg o9 4
15% & gig $xal g | A o0 a1 &
9g, S99 <@l fb o™ Afa9d 5%
15% B 47| A1 o4 9 ufoera gfg @

(a) 20% (b) 10% 227

(c) 15% b(m’ 5% I{y



(\ At a certain annual rate (rounded off

%3 167 to the nearest integer) of simple
/ interest, a sum of money becomes
W /" nine times its original value in 21

_.Q-S: years. By how much does the rate of

interest change if the same sum of
money has to become 12 times its

original value in 25 years?

AR &Gr5] # U ARed aiffe <R

. (FPcad e 9@ YUifed) WR, @

(a) Decreases by 6% Rr o1 wst ¥ o T T & o T

) Increases by 6% g g §| ufRk AW eI 25 AN A

(c) Increases by 8% g+ qal 4 q 12 T 8l 9Y o <arol
(d) Decreases by 8% X # fdba=m gRads grm?



A number first increased by 8% and
then decreased by 3% to get 2619.
5—-'3—_13_:53 What is 5% of that number?

Uh &I g 8% 9ol 3R fhy 3% ®=<
X 2619 B TS| I9 G&T T 5% 1

lou- 76— X6|9 &7

L — /(arlzs (b) 135

(c) 130 (d) 140

*Y87




\_4#TRs 13,991

el &M AMHNIE I8 $ N, BEl
9 Wd P IAd P faw W EaH
8,000 ¥UY H VRN TH A &1 Aoy
forar, (Grife® ©U ¥ <9 9warE ¥ R
@ Bl DIz QeI ol Al)| AFHaR 9
YhIR b, S|4 7,230 IUY, 6,435
%9, 6,927 $UY, 6,855 VU AR 6,562
BUY HA: Tobdl fhy| U oiEg HI g
1 B forg 9% ufaR &1 fFaar dug
BT BIIT?

(a) Rs 6,991

(c) Rs 6,000
(d) Rs 4,991

During a donation drive week of
school, students determined to
donate an average sum of Rs 8,000
on each working day of thﬁﬁl,
collectively (there was no holiday in
the donation week except Sunday).
From Monday to Friday, they
collected Rs 7,230, Rs 6,435, Rs
6,927, Rs 6,855, and Rs. 6,562
r;ﬁctively.-ﬁw much they must

collect on Saturday to meet their

Go A
gl
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.On an item having a marked price of

Rs 1,600, successive discounts of y%
and z% were offered. As a result, the
item was sold for Rs 1,056. Which of
the options below CANNOT be a set

of values for y and z?

1,600 39J P 3Iifbd Jod dqlell Th o
WR, y% 3R z% I HAd B I UIHA
o1 g A | IRUTHEwRY, 9% 1,056 BUY
d 94l g | i Ry Y fawedi § @ B
ar fdpeg y 3R z & forw s &1 &
HC 78I 8 Hhdl 87

(_,(d‘fy =22,z =15.5

(b)y = 4, z = 31.25

(c)y=20,z=17.5
(d)y=12,z =25



If x2- 9.76x+ 1 =0and x > 1, the

1
KS'—E
X

is:

value of

I x2 - J9.7éx + 1 =0 3R x > 1,

"4 $r1=n=r%

(a) 21.042 V(@ *
(b) 24.024 X @}MY’L’

(d) 24. 042 o( @




A blended tea in a barrel contains
Assam, Darjeeling and Nilgiri Hills in
the ratio 2 : 3 : 1. Another barrel
contains Darjeeling, Nilgiri Hill and
Kangra Valley in the ratio 5: 4 : 3. If
equal weights of both blended tea
mix together to make a new brand,

then the weight of Kangra valley per
kilogram in the new brand is:

U o H Al g § srm, qiiferT
eﬂvﬁaﬁrﬁw@ﬁz:a:1$aﬁmﬁ
¥ 2l P I &« ¥ fifei 2
AR BTer 3R FHFTST G HT U
5:4:3 ¢8| 3t I+ Al o9 & W

qud D TP 9 fAde] v Far Jie
T ST §, d F¢ ¥ # ufa e

FHITST HIE! BT Il &
(a) 500 gm (b) 100 gm®

(c) 250 gm  \_(#HT25 gm




Rice worth Rs. 504 per kg and Rs.
540 per kg are mixed with the third
variety in the ratio 1 : 1 : 2. If the
mixture is worth Rs. 612 per kg, find
the price (per kg in Rs) of the third
variety.

Iradd DT Hod 504 %. Ui fhall iR 540
NI feemT & e 5w @ 9w
” $m§mﬁﬁwm%|aﬁ

C Moor B A 612 T, &1 AR Rbeirm,
I \ 27 <t fven B d (R Rocla o
#H) T DI |

(E%E%;}) (ayeaongrfggfﬂ

(c) 764 (d) 522




If cos48° = m/n, then sec48° - cot42°
is equal to:

Iﬂ% cos48° = m/n, Fﬁ sec48° /- cot42°

fFae R &
m —\n? — m? @4‘19

(a) - 3
m - \n? - m?
(b)
n




What will be the median of the given

jat?} o

1, 1.1, 2.3, 0.1, 0.9, 5, 3.9, 2.5, 4.2,
4.6

faT 70 e FT ARIHT FT BR1?
1, 1.1, 2.3, 0.1, 0.9, 5, 3.9, 2.5, 4.2,

4.6
"
(a) 2.3 b1 2.4 m*‘

(c)2.6 (d)2.5 G






